REDROCK

HD GRAB HANDLES

(2018-2024+ WRANGLER JL - 2 DOOR)

INSTALLATION INSTRUCTIONS

CONTENTS

Grab Handles

M10x1.50 x 65mm Bolts [Front]
M10 Flat Washers

M10 Nuts

8mm Allen Key

2
4
4
4
1
2) Foam Gaskets

(
(
(
(
(
(

— e M N S S

TOOLS REQUIRED

8mm Allen Key

SKU # J210819
Edited: 03/07/2024



REDROCK

STEP1
[FRONT]

Locate the (2) through holes in the vehicle roll bar.

STEP 2
[FRONT]

Place the foam side of the grab handle onto the top of the vehicle roll bar. Then, place (2) M10 nuts
into the grab handle hex cutouts. Through the bottom of the roll bar, insert (2) M10 x 65mm bolts
through the roll bar and into the previously placed M10 nuts. Tighten the bolts evenly until the grab
handle is secure.

Installation is now complete.



	J210819 - RedRock - HD Grab Handles (18+ JL 2 Door)-01
	J210819 - RedRock - HD Grab Handles (18+ JL 2 Door)-02

